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MR ACTING SPEAKER: A Minister may lay the Punjab Safe Cities 

Authority Ordinance 2015. 

MINISTER FOR MINES AND MINERALS (Mr Sher Ali Khan): 

Mr Speaker! I lay the Punjab Safe Cities Authority Ordinance 2015. 

MR ACTING SPEAKER: The Punjab Safe Cities Authority Ordinance 

2015 has been laid on the table of the House. It is deemed to be a Bill 

introduced in the House under rule 91(6) of the Rules of Procedure of the 
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Provincial Assembly of the Punjab 1997. It is referred to the Standing 

Committee on Home Affairs with the direction to submit its report within 

two months. 
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MR ACTING SPEAKER: A Minister may lay the Punjab Local 

Government (Amendment) Ordinance 2015. 

MINISTER FOR MINES AND MINERALS (Mr Sher Ali Khan): 

Mr Speaker! I lay the Punjab Local Government (Amendment) 

Ordinance 2015. 

MR ACTING SPEAKER: The Punjab Local Government (Amendment) 

Ordinance 2015 has been laid on the table of the House. It is deemed to 

be a Bill introduced in the House under rule 91(6) of the Rules of 

Procedure of the Provincial Assembly of the Punjab 1997. It is referred 

to the Standing Committee on Local Government and Rural 

Development with the direction to submit its report within two months. 
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MR ACTING SPEAKER: A Minister may lay the Punjab Forest 

(Amendment) Ordinance 2015. 

MINISTER FOR MINES AND MINERALS (Mr Sher Ali Khan): 

Mr Speaker! I lay the Punjab Forest (Amendment) Ordinance 2015. 

MR ACTING SPEAKER: The Punjab Forest (Amendment) Ordinance 

2015 has been laid on the table of the House. It is deemed to be a Bill 

introduced in the House under rule 91(6) of the Rules of Procedure of the 

Provincial Assembly of the Punjab 1997. It is referred to the Standing 

Committee on Forestry and Fisheries with the direction to submit its 

report within two months. 
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MR ACTING SPEAKER: A Minister may lay the Punjab Local 

Government (Second Amendment) Ordinance 2015. 

MINISTER FOR MINES AND MINERALS (Mr Sher Ali Khan): 

Mr Speaker! I lay the Punjab Local Government (Second Amendment) 

Ordinance 2015.  

MR ACTING SPEAKER: The Punjab Local Government (Second 

Amendment) Ordinance 2015 has been laid on the table of the House. It 

is deemed to be a Bill introduced in the House under rule 91(6) of the 

Rules of Procedure of the Provincial Assembly of the Punjab 1997. It is 

referred to the Standing Committee on Local Government and Rural 

Development with the direction to submit its report within two months. 
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MR ACTING SPEAKER: A Minister may lay the Punjab Drugs 

(Amendment) Ordinance 2015. 

MINISTER FOR MINES AND MINERALS (Mr Sher Ali Khan): 

Mr Speaker! I lay the Punjab Drugs (Amendment) Ordinance 2015.  

MR ACTING SPEAKER: The Punjab Drugs (Amendment) Ordinance 

2015 has been laid on the table of the House. It is deemed to be a Bill 

introduced in the House under rule 91(6) of the Rules of Procedure of the 

Provincial Assembly of the Punjab 1997. It is referred to the Standing 

Committee on Health with the direction to submit its report within two 

months. 
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MR ACTING SPEAKER: A Minister may lay the Punjab Food 

Authority (Amendment) Ordinance 2015. 
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MINISTER FOR MINES AND MINERALS (Mr Sher Ali Khan): 

Mr Speaker! I lay the Punjab Food Authority (Amendment) Ordinance 

2015.  

MR ACTING SPEAKER: The Punjab Food Authority (Amendment) 

Ordinance 2015 has been laid on the table of the House. It is deemed to 

be a Bill introduced in the House under rule 91(6) of the Rules of 

Procedure of the Provincial Assembly of the Punjab 1997. It is referred 

to the Standing Committee on Food with the direction to submit its report 

within two months. 
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MR ACTING SPEAKER: A Minister may lay the Punjab Drugs 

(Second Amendment) Ordinance 2015. 

MINISTER FOR MINES AND MINERALS (Mr Sher Ali Khan): 

Mr Speaker! I lay the Punjab Drugs (2nd Amendment) Ordinance 2015.  

MR ACTING SPEAKER: The Punjab Drugs (Second Amendment) 

Ordinance 2015 has been laid on the table of the House. It is deemed to 

be a Bill introduced in the House under rule 91(6) of the Rules of 

Procedure of the Provincial Assembly of the Punjab 1997. It is referred 

to the Standing Committee on Health with the direction to submit its 

report within two months. 
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MR ACTING SPEAKER: A Minister may lay the Punjab Special 

Protection Unit Ordinance 2015. 

MINISTER FOR MINES AND MINERALS (Mr Sher Ali Khan): 

Mr Speaker! I lay the Punjab Special Protection Unit Ordinance 2015.  

MR ACTING SPEAKER: The Punjab Special Protection Unit 

Ordinance 2015 has been laid on the table of the House. It is deemed to 

be a Bill introduced in the House under rule 91(6) of the Rules of 

Procedure of the Provincial Assembly of the Punjab 1997. It is referred 
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to the Standing Committee on Home Affairs with the direction to submit 

its report within two months. 
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MR ACTING SPEAKER: A Minister may lay the Punjab Technical 

Education and Vocational Training Authority (Amendment) Ordinance 

2015. 

MINISTER FOR MINES AND MINERALS (Mr Sher Ali Khan): 

Mr Speaker! I lay Punjab Technical Education and Vocational Training 

Authority (Amendment) Ordinance 2015.  

MR ACTING SPEAKER: The Punjab Technical Education and 

Vocational Training Authority (Amendment) Ordinance 2015 has been 

laid on the table of the House. It is deemed to be a Bill introduced in the 

House under rule 91(6) of the Rules of Procedure of the Provincial 

Assembly of the Punjab 1997. It is referred to the Standing Committee 

on Industries with the direction to submit its report within two months. 
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MR ACTING SPEAKER: A Minister may lay the Infrastructure 

Development Authority of the Punjab Ordinance 2015. 

MINISTER FOR MINES AND MINERALS (Mr Sher Ali Khan): 

Mr Speaker! I lay Infrastructure Development Authority of the Punjab 

Ordinance 2015.  

MR ACTING SPEAKER: The Infrastructure Development Authority 

of the Punjab Ordinance 2015 has been laid on the table of the House. It 

is deemed to be a Bill introduced in the House under rule 91(6) of the 

Rules of Procedure of the Provincial Assembly of the Punjab 1997. It is 

referred to the Standing Committee on Communication and works with 

the direction to submit its report within two months. 
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MR ACTING SPEAKER: A Minister may lay the Punjab Pure Food 

(Amendment) Ordinance 2015. 

MINISTER FOR MINES AND MINERALS (Mr Sher Ali Khan): 

Mr Speaker! I lay the Punjab Pure Food (Amendment) Ordinance 2015.  

MR ACTING SPEAKER: The Punjab Pure Food (Amendment) 

Ordinance 2015 has been laid on the table of the House. It is deemed to 

be a Bill introduced in the House under rule 91(6) of the Rules of 

Procedure of the Provincial Assembly of the Punjab 1997. It is referred 

to the Standing Committee on Food with the direction to submit its report 

within two months. 
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